
Warm Up 3/18

A farmer has pigs and chickens together in 
a pen.  There are 60 heads and 162 legs.  
How many pigs are there?

It doesn't matter if x = # of chickens 
or the # of pigs.  See below.



How to solve #4.

Isolate y in second equation, 
and substitute in to the first 
equation.

Multiply the second equation 
by 2.  Now you can eliminate 
y by addition.

3x + 8x - 12 = 10
11x - 12 = 10

+ 12      + 12  

11x = 22
 11         11  

x = 2

(2, 2)





Let's try what we just figured out.



Purple sheet



White Sheet



Classwork

Complete 12 problems on either 
sheet, or combined on both sheets.



Homework

Finish classwork


